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BACHELOR'S DEGREE 

PROGRAMME/CES 

Term-End Examination 

June, 2019 

(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Attempt six questions in all. Question No. 1 

is compulsory. Attempt any five questions 

from the Question No. 2 to 7. 

. (a) Define the following terms : 	5x1=5 

(i) Aphelion 

(ii) Hazardous substances 

Micronutrients 

(iv) Pneumoconiosis (dust diseases) 

(v) Organic farming 
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(b) Fill in the blanks : 
	

5 x 1 = 5 

Chernobyl accident was caused by the 

leakage of   from the nuclear 

power plant. 

	means groups of individuals 

belonging to one species. 

	is the main ore of aluminium. 

(iv)	 is the treatment of water to 

kill pathogenic bacteria. 

(v) Biofertilizers are environmentally safe 

replacement for 	  

(c) Choose the correct alternative from the two 

provided in the brackets : 	5 x 1 = 5  

(i) DDT enters the biosphere at the stage 

of the food (chain/web). 

(ii) A stage in wind erosion in which 

heavier soil particles move along at 

the ground level as a result of high 

velocity of wind is called (surface 

creep/siltation). 

(A-16) 
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(Minamata/Itai itai) disease is caused 

by the cadmium poisoning. 

(iv) (Teratogenic/Mutagenic) effects cause 

a change in genetic material which is 

passed on to next generation. 

(v) In a (frontier/sustainable) society 

recycling and use of renewable 

resources is practised. 

(d) State whether the following statements are 

True (T) or False (F) : 	5 x 1 = 5 

(i) Sulphur is found in gaseous form as 

hydrogen sulphide (H2S) in the 

atmosphere. 

(ii) Consumption of Khesari dal Lathyrus 

ativus) causes dropsy. 

(iii) Human 	beings 	started 	fixed 

settlements during Neolithic period. 

(iv) Energy movement in an ecosystem is 

unidirectional. 
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(v) Chlorofluorocarbons 	(CFCs) 	are 

emitted 	from 	refrigeration 

equipments. 

(e) Differentiate between any two pairs of the 

following : 	 21  x 2 = 5 
2 

(i) Population and community 

(ii) Smoke and smog 

(iii) Extinct and rare species 

2. Differentiate between traditional and modern 

agriculture. List and discuss any three harmful 

effects of traditional agriculture on 

environment. 	 15 

3. Define sewage. List and describe the six steps 

necessary for treatment of waste water. 	15 

4. Enumerate any five kinds of toxic water 

pollutants released by industries. Comment on 

their sources and ill effects on human health.15 

5. (a) Describe the role of Non•Government 

Organizations (NGOs) in imparting 

	

environmental education. 	 5 

(A-16) 
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(b) Name the three conceptual models to 

understand the complex environmental 

problems. Discuss briefly any one of them. 

10 

6. (a) How do human activities degrade 

environment ? Explain with any five 

examples. 	 10 

(b) Give a comparative account of Tundra and 

Taiga biomes. 	 5 

7. Discuss the problems associated with land 

utilization for developmental projects under the 

following heads : 
	 5x3=15 

(a) Migration 

(b) Slums 

(c) Rehabilitation of Displaced persons 

(A-16) P. T. O. 
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CITO 	131114VI 1:0 MINIZ : 	5 x 1 = 5 

(i) 	 stidir rrri 	(11-4Fzro 
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	  .14 1R' -crw t SI 	Ird 714 
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(iv) (FcRcoiicHcb/dr-irt1(11) VIM alTVt* 
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WRIT (neolithic) W1 4 Tr-164 fiqc: 

wrtayl 410 	em 

(iv) illfrel 4 wmi 	ktbRki 	q 	 
tt 

(v) cto I.trachitti-1 (CFCs) 	oLichtui 	

'gRT riochiNct 	tl 

(w) 	iiiitnitscr 4 T1 q.)-6• 	711* -41-a a 
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(1) 	 afff tilclq 

(ii) Tit 4T tlgr q46t1 

1-qq41 alk sell( vilfaqi 

2. Lipit)tch 	alTtirTW VT > al* rofigIM 

trrttiftw Nfq 	qqiqtui .ER zlk ar4 	 

6iricffitar) 311:11-4 "0' vcil 	 aiT dicta 
.q9f 	,qtm 	 15 
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3. aTtrfq11Z 	 '4fARI aTtiqg 
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15 
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6. (W) -14K4 Tire4W 14 rcht.1 sqR Lig eit 1 
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s 	 5 
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7. eichimirich tomifall 	-cf iff atm 	it 14 

1:14it-Td IllitzfralY WI 14-i ci iscf 	cts • 	flifu 

iti 	: 
	

5x3=15 

(i) 51ciitil (migration) 

(ii) f tettitil 

WO 	 1111 	Tict 
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